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&5 X 4 .z,na; 'Finﬁfa(z)oﬁﬁ%ﬁ jn(gilicf)é X 4 Tm{égﬁ;k:F .z.na; jj(gilgcf)é X 4 .z.na)r J:Jﬁﬁ?b(z)@ttlsl jj(gzlgcf)é X 4 J:m;b(z)@tt.s. .Z,né; b(ﬁa/tnié
’ 100kN/mM%Z#B % % -l -~ = -|3mZEBRB| - ~ = - —| 100kN/mM%#B %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st 1.00{0.00 ~ 584 73.07| #h L4t 1000 ~ 584 1.59 8.01 ZnLst 1.00f 500 ~ 7.06 73.07| #hist | 500 ~ 7.06] 1.59 8.01
9 100kN/mM#%#BZ % 1.00(0.00 ~ 0.31 104.57|3m%E 25 = ~ - = —| 100kN/mM%#B 2% 1.00( 1142 ~ 1248 104.57|3m%EEZ 5 =l ~ - - -
Zzh st 1.00{ 031 ~ 8.09 100.00] #hkist | 0.00 ~ 8.09] 2.01 10.14 ZnLst 1.00f 500 ~ 1142 100.00] #hlist | 5.00 ~ 12.48| 2.01 10.14
3 100kN/mM#%#BZ % 1.00({0.00 ~ 205 131.67|3m%EE 25 = ~ - = —| 100kN/mM%#8 2% 1.00( 10.62 ~ 19.08 131.67|3m%EEZ 5 =l ~ - - -
Zzh st 1.00{2.05 ~ 983 100.00] #hkist | 000 ~ 9.83| 231 11.65 ZznLst 1.00f 500 ~ 10.62 100.00] #hiist | 5.00 ~ 19.08] 2.31 11.65
4 100kN/mM#%#BZ % 1.00({0.00 ~ 2.06 131.81|3m%EE 25 = ~ - = —| 100kN/mM%#8 2% 1.00 10.63 ~ 19.16 131.81|3m%EEZ 5 =l ~ - - -
Zzh st 1.00(2.06 ~ 984 100.00] #hkist | 000 ~ 9.84 230 11.64 ZnLst 1.00f 500 ~ 10.63 100.00] #hkist | 5.00 ~ 19.16] 2.30 11.64
5 100kN/mM#%#BZ % 1.00({0.00 ~ 1.99 130.79|3m%E#B 25 = ~ - = —| 100kN/mM%#8 2% 1.00( 1094 ~ 18.25 130.79|3m%EEZ D =l ~ - - -
Zzh st 1.00{199 ~ 978 100.00] #hiist [ 000 ~ 9.78| 2.34 11.81 ZznLst 1.00f 500 ~ 10.94 100.00] #hkist | 5.00 ~ 18.25| 2.34 11.81
6 100kN/mM#%#BZ % 1.00({0.00 ~ 154 123.42|3m%EB 25 = ~ - = —| 100kN/mM%#8 2% 1.00( 11.28 ~ 18.30 123.42|3m%EEZ 5D =l ~ - - -
Zzh st 1.00({ 1.54 ~ 932 100.00| Z#h A4t |0.00 ~ 9.32] 2.19 11.08 ZznLst 1.00f 500 ~ 11.28 100.00] #hkist | 5.00 ~ 1830 2.19 11.08
100kN/M%Z#8B % % ~ ImEHBRD ~ 100kN/mM%Z#BZ % ~ ImEEZD ~
Zzh st ~ Zzh st ~ Zh st ~ Zzh st ~
100kN/mMZ#B % % ~ ImEHBRD ~ 100kN/mM%Z#BZ % ~ ImEEZD ~
Zzh st ~ zh st ~ Zh st ~ zh st ~
100kN/M%Z#B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
zh st ~ Zzh st ~ Zh st ~ zh st ~
100kN/mM%#8 % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zzh st ~ Zzh st ~ Zzh st ~ zh st ~
100kN/MZ#B % % ~ ImEHBRD ~ 100kN/m%Z#B % % ~ ImEEZD ~
zh st ~ Zzh st ~ Zzh st ~ zh st ~
100kN/mM%#B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zzh st ~ zh st ~ Zh st ~ zh st ~
100kN/m#E#BZ % ~ ImEFEZD ~ 100kN/m%#8Z% ~ ImEFEZD ~
Zhst ~ ZhLlst ~ Zh s ~ ZhLs ~
100kN/m#E#BZ % ~ ImEFEZD ~ 100kN/m%#82% ~ ImEFEZD ~
Zhst ~ ZhLlst ~ Zh s ~ ZhLs ~
100kN/m#E#BZ % ~ 3ImEFEZD ~ 100kN/m%#8Z 5% ~ ImEFEZD ~
ZThESH ~ ZThLst ~ ZhLS ~ ZThESE ~
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